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Top secret 

 Answer Code   Answer Code 

16 x 0.25  D  0.32 x 10  I 
1.2 ÷ 6  O  1.32  N 

0.4 x 1.6  E  26.6 ÷ 10  C 
0.1 x 0.1  S  1.2 x 1.2  R 

    0.8 x 0.8  E 
0.62  m  2.1 ÷ 5  A 

0.3 x 0.4  u  0.12  S 
4 ÷ 0.8  L  0.4 x 1.6  E 

0.2 x 0.3  T     
3 x 0.3    I  2.52 ÷ 6  A 

0.8 ÷ 0.4  P     
2.5 ÷ 0.5  L  1 + 0.69   N 
3.6 ÷ 4  I  12 ÷ 100  U 

3.46 – 0.8  C  1 – 0.64  M 
60 x 0.007   A  1 ÷ 0.1  B 

1 – 0.94  T  0.82  E 
√0.81  I  12 x 0.12  R 

0.14 + 0.06  O    ? 
0.13 x 13  N     

   A = 0.42 B = 10 C = 2.66 D = 4 

0.6 x 0.7  A E = 0.64 F = 3 G = 0.56 H = 0.25 

0.5 x 10  L I = 0.9 J = 0.99 K = 1.96 L = 5 

1 ÷ 0.02  W M = 0.36 N = 1.69 O = 0.2 P = 2 

1.4 x 0.3  A Q = 11.1 R = 1.44 S = 0.01 T = 0.06 

9.06 – 8.96  Y U = 0.12 V = 7 W = 50 X = 0.44 

10 ÷ 1000  S  Y = 0.1 Z = 0.88  

Work out each sum and convert the answer using the code. 
Finished already? Can you Make up questions for the letters that haven’t been used 
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